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MA131/135: College Algebra

Instructor: Justin Ryan Bmler

Midterm Exam 2—Sections 2.4-3.3 LY Community College

Read and follow all instructions.

Part I: True or False [2 points each]
Read cach statement carcfully. In the space provided, wrile T if the stalement is always lruce,
or F otherwise.
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Part II: Fill in the Blank [2 points each]
Choose the appropriaie word or phrase from the word bank, and write its corresponding letter
in the space provided.
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Part III: Multiple Choice [4 points each]
Write the letter corresponding to the appropriate answer in the space provided.

D 11 Lt f=xr+ax and ?ba'); hS{ ?‘;,J a fowas o (,C?)(N).

B.
C. D. X+ ¥ -)x

A 12. Solve e IMW\!\‘Y& ’?'\'31(\.2
A (1,5) B.

C.
r 5 3
i ] . - v n 4 AR
B 13. L";"l/‘.\% ¢ T .D‘f‘.‘{q\)@\ ’Ji""'-'}'-'ﬁj,' ¢ The fam Laf 2= -Q—'x."“lv—
A. B.S- 1
C D.

B e P o ot s sy 500243

A+ B.

C.



C 1

ot

. IO[MA"!E\? 'H/\L Wfr\{x GF 'H/ul/ Pc\m\ng[a P(X>= 37‘1”;-
B.

A.
c. (8-5) D.

Gelwe The %ﬁm\ﬂm el w4 =D
A. B.
C. }(—.:Zil D.

glve T zwa%;w 2w A
v

A. B.
C. x=1,4 D.

(x-F= -

e B

1(;{7’+ bx +9 —'-f"’l\:o
(x+3) = 26

X= -Bfﬁ



D 1

_ %@Ww Fﬁuf Hu "g'.m\-'“’ufj( rL Tl fm\aq‘u 1}

Sl g A a{b,vmlq}m: l?x-—ﬂ‘r
A

C.

e Ho egetion: (X751
A K=-4, 1§
C.

A.
C.

A.
C.x=-,0

3 E=d

B.

D. No Soluhon.

el 5

B.
D. NG gc\u'}fm\'

B (D}’z)
D. Nune .

B.
D. None,

3x-3]= -
i fossi\o\,e.l
S=lo %={w =[p
x= 1< =y

-1 (X'3)1 o 15

. Fid the %’imlrcrcef‘ﬂ of Hu [,‘pwaLD]m. 4= Z(K’rﬂl‘l..



Lt f0o= )(11—1 m«J ?M: J X + 1.

_&_23. Ffm' U;U‘F
A [

C.

¢ 24. Ffml {'0"‘(.

C. X+X%

9, | \ 4
) 25. W nat 15 T"',f\.l.. Ao A

<)

_C 26 Whit ¢ e domain .F
A

C. [~ o)

- |
|,,, b r



14
D o7 ferbum e b‘w—mlﬂw- T r Ar)(313) ¢ pi
i 8.4 — =
A. B.st%t 18 >S5
C. D. = £ 2

B 28 Porfrm or-mrh{m: (22) (3.
A.

B. 5
C. D.
w5
A 20 Reducer *
A. ¢ B

. - c(: a (‘a‘m_‘luc_ I’W‘IMLJH' zzatll 18 JB‘F\M;’ ) \u hw
C 30, The u.L'f;-[MI-L ﬂlﬁ _{r [lj_,g‘{,[_

Qumber 13 = J GaH) a-bi) . Fin
A. B.

G D.



Part IV: Short Answer [5 points each]
Show enough work. Clearly mark your final answers. Partial credit given when deserved.
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